0,20m2

0,00m2

Pole pow. WYKOP

Pl K . 348, 48 Pole pow. NASYP = 2,04m2  Pole pow. HUMUS ISTN.

0,27m2

Pole pow. HUMUS ISTN. = 0,33m2

0,00m2

Pole pow. WYKOP
Pole pow. NASYP = 1,51m2

PIK. 361,20

OZNACZENIA:

0,00m2  Pole pow. WYRGWNAWCZA = 1,23m2

0,97m2  Pole pow. HUMUS ISTN.

Pole pow. WYKOP

PIK. 310,29  pde pov. NS

0,83m2

0,00m2

Pole pow. WYKOP

Pl K . 31 O, BO Pole pow. NASYP = 1,30m2  Pole pow. HUMUS ISIN. = 0,27m2

Pole pow. WYKOP = 0,00m2

= 0,47m2
0,18m2

0,79m2

Pole pow. WYRGWNAWCZA
Pole pow. HUMUS ISTN. = 0,19m2

0,53m2

Pole pow. WYKOP = 0,00m2

PlK 235,1 8 Pole pow. NASYP

0,55m2

Pole pow. WYROWNAWCZA

Pole pow. HUMUS ISTN.

0,00m2
0,47m2

Pole pow. WYKOP

PlK 260,22 Pole pow. NASYP

Pole pow. WYROWNAWCZA

0,00m2

Pole pow. WYKOP

PlK 285,29 Pole pow. NASYP

0,77m2

0,0lm2  Pole pow. WYRGWNAWCZA
0,50m2  Pole pow. HUMUS ISTN. = 0,25m2

Pole pow. WYKOP

PIK. 160,28 pde po. nasr

= 0,74m2
0,28m2

0,73m2

0,00m2  Pole pow. WYRGWNAWCZA
0,69m2  Pole pow. HUMUS ISTN. = 0,29m2

Pole pow. WYKOP

1 85, 29 Pole pow. NASYP

PIK.

0,00m2  Pole pow. WYRGWNAWCZA

Pole pow. WYKOP

PlK 21 0,24 Pole pow. NASYP

= 0,51m2
0,17m2

Pole pow. WYROWNAWCZA

0,66m2  Pole pow. HUMUS ISTN.

Pole pow. WYKOP = 0,00m2
Pole pow. NASYP

PIK. 84,55

0,36m2

0,001m2  Pole pow. WYROWNAWCZA

0,51m2  Pole pow. HUMUS ISTN.

Pole pow. WYKOP

PlK 1 1 0,22 Pole pow. NASYP

Pole pow. WYKOP = 0,00m2  Pole pow. WYRGWNAWCZA

1 35, 22 Pole pow. NASYP

PIK.

0,02m2

Pole pow. WYROWNAWCZA
Pole pow. HUMUS ISTN. = 0,20m2

0,09m2
0,06m2

Pole pow. WYKOP

Pole pow. NASYP

PIK. 2,00

0,4im2
0,33m2

Pole pow. WYROWNAWCZA

Pole pow. HUMUS ISTN.

0,00m2

0,73m2

Pole pow. WYKOP
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0,01m2

Pole pow. WYROWNAWCZA
Pole pow. HUMUS ISTN. = 0,25m2

0,07m2
0,18m2

Pole pow. WYKOP

PlK 32,1 O Pole pow. NASYP
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Pl K 59,42 Pole p'?lﬂ-. NASYP
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